2 ek
7 500 HEF
o 510 #IRZFS
F 5l FAREFT (9] 90)
A -F-F- -5 of| 4k i Zd o 4ol H| 1 Z 7+
= Al 28,557,000 36,661,354 A8,104,354
sk} 28,557,000 36,661,354 A8,104,354
500 RZ2 28,557,000 36,661,354 A8,104,354
510 TR ZFS 23,449,000 31,005,354 A7,556,354
511 HIARFFTS 23,449,000 31,005,354 A7,556,354
511-01 ZIRZ 23,449,000 31,005, 354 A7,556,354
O3} Estexd 28y T4 3,956,000,000¢) = 3,956,000
OstEstrF X2 A=A A X
6,214,000,000¢ = 6,214,000
OXsstEseAgdrd 1A 929,000,0004 = 929,000
OulsstrseAgArd A4d 1,157,000,000¢) = 1,157,000
Onf&3tFEAIA AX]FAL 2,450,000,0009 = 2,450,000
OsolErs shrAe ld A 1,205,000,0009) = 1,205,000
OstELe A AA3AE Ax 1,400,000,0009 = 1,400,000
Oz} &stmA 2| ol Y4 At 2,500,000,000¢ = 2,500,000
OXgetrEsLdA e g A A dela/4%
2,798,320,000¢ = 2,798,320
O FstgFEx e Ax XAl o]z g3
769,630,0009 = 769,680
O3t A AU stA A AR A ka] o] A3k
70,000,0009 = 70,000
520 A], EH| R ZEE 5,108,000 5,656,000 548,000
521 Al - BH| R ZEES 5,108,000 5,656,000 A 548,000
521-01 A] - EH| R ZEE 5,108,000 5,656,000 548,000
Ozt 24X gy 54 1,333,000,0009 = 1,333,000
OstEstE LA LA A AXA
2,094,000,000¢) = 2,094,000
OdsslEE oA gr)d A4 151,000,000¢ = 151,000
OUEatsF LA gAld A 188,000,0009 = 188,000
OntgstgE HAIA A 368,000,0009 = 368,000
OgoEr ST g Al Ad XA 181,000,0009 = 181,000
Ost4&H A AYLFFAAD A 300,000,0009 = 300,000
OstEetrA g oA 4dkArg 493,000,000 = 493,000




S oAl A
2008 &= Ho Ak 2 uks) A ] = = °
A ek

At A A 1A _

o sl Aed A (s91:21 )
=] J =N o] (5 H ALl « H A B A)- o Ade =7}
A - A g EA) - AFAY - BAEF tkel o Aol v 1S53

51,636,937 68,880,220 A17,243,283
23,449,000]
+=2
5,108,000]
23,079,937]
40,877,424 61,655,587 N20,778,163
19,811,000]
st Al A
5,108,000]
15,958, 424]
30,084,424 44,616,587 A14,532,163
12,256,000]
st E g A
3,766,000]
14,062,424]
gt 8d SAAFA 3,000,000 10,500,000 7,500,000
401 A]AH] o) H] 3,000,000 10,500,000 27,500,000
04 AN 2,500,000 9,800,000 A7,300,000
OxFstAed SAHFA
2,500,000,0009 = 2,500,000
05 7rg ) 500,000 700,000 200,000
ORGstA e SHFA s
500,000,000¢ = 500,000
At Ed SAAFA 7,499,920 10,300,000 2,800,080
401 A]AdH] L R gjn] 7,499,920 10,300,000 22,800,080
03 EAwjgH] 2,000,000 0 2,000,000
OFfatAeld 5434 EA Y]
2,000,000,0009 = 2,000,000
04 A]AdH 5,479,920 9,670,000 A4,190,080
OFfratrAad A3 A
5,479,920,000¢] = 5,479,920
06 AlAdH-thn 20,000 30,000 210,000
OFFatAad T4 FAF Al dF-i)
20,000,0009 = 20,000
10,108,000 13,791,000 A3,683,000
6,214,000]
stEsh A el nEA e (5a)
2,094,000]
1,800,000]
401 A1 H] o] 10,108,000 13,791,000 A 3,683,000




i 3}
kb Z}ﬂ%‘}%dif (29):419)
- _ 2] =
A A -G (FA) - AFAY - AL S el ﬁ&i H] 2 Z7¢
[= 6,214,000]
401 A H 5o H] [= 2,094, 000]
[A] 1,800,000]
04 A4 9,608,000 13,141,000 3,533,000
OsgtatgA el aLeA 23 H 751,323
Wukel) 9,608,000,000¢ = 9,608,000
[= 5,914,000]
(= 1,994,000]
[A] 1,700,000]
05 zheEH] 500,000 650,000 A 150,000
Oty el At 2en
500,000,0009] = 500,000
[= 300,000]
(= 100,000]
(A 100,000]
6,481,000 4,662,000 1,819,000
[= 3,956,000]
stEsteA T4 (5aL)
[= 1,333,000]
[A] 1,192,000]
6,481,000 4,662,000 1,819,000
[= 3,956,000]
401 A H] L - H]
[= 1,333,000]
[A] 1,192,000]
04 A]AH] 6,281,000 4,412,000 1,869,000
O3t SAFAH7] w8429 1))
6,281,000,000¢ = 6,281,000
[= 3,856,000]
(= 1,283,000]
(A 1,142,000]
05 zFelH] 200,000 250,000 A50,000
OstEatrAed SaEAE 7Hey]
200,000,000¢) = 200,000
[= 100,0001]
(= 50,000]
[A] 50,0001
Tt Ae g A (=) 1,327,000 824,000 503,000




5 a3}
A A Al A _
ool s el g4l (k5] -2 9)
A AR (3 A BALS] - AR }on HAEd= al 5 =71
'1' Oﬁ’L"JI(ﬂﬁ])' ‘"T}H'\_o—l =1 cq]/‘\lo_]'} ]JJ—B‘E
[= 929,000]
FaeAed A (5a) R 151,000]
[A] 247,000]
1,327,000 824,000 503,000
[= 929,000]
401 A]/dw] L E g v
[= 151,000]
(A 247,000]
04 A]AdH 1,097,000 634,000 463,000
OdsstrAgAd A4 (715969 vH)
1,097,000,0009 = 1,097,000
[= 819,000]
(= 91,000]
[A] 187,000]
05 7+ 200,000 170,000 30,000
OdsstAe Al AAFA 2]
200,000,000 = 200,000
[= 100,000]
(= 50,000]
[Al 50,000]
06 AlAH-thn 30,000 20,000 10,000
OdEstAgdAAd A4 FAF Fdiv]
30,000,0009) = 30,000
[= 10,000]
(= 10,000]
[A] 10,000]
1,653,000 1,671,000 A18,000
[= 1,157,000]
st A4 (=an)
(= 188,000]
[A] 308,000]
1,653,000 1,671,000 A18,000
[= 1,157,000]
401 A]/d v]E 5o v
(= 188,000]
[A] 308,000]
03 EXujg]u] 400,000 0 400,000
OUlEstAgAd AFAF EX 0] YH]
400,000,000 = 400,000
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A skt
o :{iﬁﬂ%ﬁg (w91:399)
By A " (A - ARALY - AR el i3a EEE
[= 300,000]
(= 50,0001
[A] 50,0001
04 AJAH] 823,000 1,371,000 A548,000
OdsstrFAgAlA 14 (7151199 vH-e)
823,000,000¢) = 823,000
[= 537,000]
(= 83,0001
[A] 203,000]
05 zhEH] 400,000 270,000 130,000
OdlsstrAeAd AdEAF 7]
400,000,0009) = 400,000
[= 300,000]
(= 50,0001
[A 50,0001
06 APt 30,000 30,000
OdlsstrA g Al AdFA Fdjv]
30,000,000¢) = 30,000
[= 20,0001
(= 5,000]
[A] 5,000]
stAEd +9 15,504 13,587 1,917
101 2172 H] 15,504 13,587 1,917
10 7)1HA 2 AT 1S 15,504 13,587 1,917
OstA e g S43HA 1z1n) 15,504
i) 31,2009 = 19 * 250 = 7,800
- FEFET 31,2009 = 178 * 525 = 1,623
— AAHE 31,2009 = 17 = 20 = 624
—dols 7,800,000 * 4/12 = 2,600
R R R
3,35490 « 1% = 25A17F * 1294 = 1,007
=32 120,000¢) * 19 = 129 = 1,440
=75 QR 13,654,000 * 3% = 410
3,572,000 0 3,572,000
AR olyA "ok AbY [= 2,500,000]
(= 493,000]




A ek
A A Al A e
gl g Al (291 4)
B2 . AR . o (3 10 . v A E ol AdE =)
FA A - AL (I A) - AFAYE - HAF drel of Ak N H] 3 573
stA g olux] Aok AMY [A] 579,000]
3,572,000 0 3,572,000
[ 2,500,000]
sh kg2 87 U XA A (55 3L)
(= 493,000]
[A] 579,000]
3,572,000 0 3,572,000
[= 2,500,000]
401 A]7d B2 5o v
(= 493,000]
[A] 579,000]
04 AlAdn| 3,562,000 0 3,562,000
OstEstgA el of v R d kA
3,562,000,0009 = 3,562,000
[= 2,493,0001]
(= 491,500]
[A 577,500]
06 A]A ] 10,000 0 10,000
Ozt A e o uAd At Al
H 10,000,000 = 10,000
[= 7,000]
(= 1,500]
[A] 1,500]
5,221,000 6,465,000 A1,244,000
[= 3,655,000]
Zho] shEA A A A
(= 549,000]
[~ 1,017,000]
3,500,000 5,065,000 A1,565,000
[= 2,450,000]
nSekr s A X (L)
(= 368,000]
[A] 682,000]
3,500,000 5,065,000 A1,565,000
[= 2,450,000]
401 A]AB] L H- g v
(= 368,000]
[A) 682,000]
04 AN 3,500,000 4,800,000 21,300,000




R Rk
3 sk g Al A A o
£h9]:7bo] A A4 A4 (911 2)
- _ - Z 9 =
BA A B () - AR - BEE ol Ao i5s NEES:
A |
Oupg et g A A (R4, GAk,84H) (7]
=314 uk9)) 3,500,000,0009) = 3,500,000
(= 2,450,000]
(= 368,000]
[Al 682,000]
1,721,000 1,400,000 321,000
[= 1,205,000]
FolEre AU A (Han)
[= 181,000]
[Al 335,000]
1,721,000 1,400,000 321,000
[= 1,205,000]
401 A1 R R oH|
(= 181,000]
[Al 335,000]
04 A]An) 1,671,000 1,340,000 331,000
OsdEnsstex g Nd(Bd A E)0)
+155% w9 ) 1,671,000,000 = 1,671,000
(= 1,175,000]
(= 171,0001]
[A] 325,000]
05 zra)w 50,000 50,000
OsErSstamxeAd(Bd AE)A
2] 7re)H] 50,000,0009 = 50,000
[= 30,000]
(= 10,0001
[A 10,000]
2,000,000 10,574,000 28,574,000
[= 1,400,000]
st A AdsAIA A
(= 300,000]
[A] 300,000]
2,000,000 10,574,000 28,574,000
[= 1,400,000]
st A A8t Al A X (=a1)
(= 300,000]
[Al 300,000]
2,000,000 10,574,000 28,574,000
401 AR F o H]|
[= 1,400,000]




4] 553}

e A AL AN

sl igho] A e A M % (912 4)
BA A B () - AR - BEE ol Ao i3a NEES:
[= 300,000]
401 Al W] YA H]
[A] 300,000]
04 AJAH] 2,000,000 10,054,000 A8,054,000
Ostr&Ed A Adstald A4
2,000,000,000¢ = 2,000,000
[= 1,400,000]
(= 300,000]
[A] 300,000]
ok ¢ 34 E A 4,124,453 721,040 3,403,413
okt 4w A 4,065,821 650,000 3,415,821
TN A (B =7 ) 300,000 300,000 0
401 A ML H] 300,000 300,000 0
04 AJAH] 300,000 300,000
OFARA N AAL (k=2 H])
200,000 * 1,500m = 300,000
FEAT HAFA AL 3,765,821 0 3,765,821
401 A ML F- B 3,765,821 0 3,765,821
04 AJAH] 3,226,313 0 3,226,313
ORbEA 7 A FaH7-FAL
3,226,313,000¢ = 3,226,313
05 Zre]w] 539,508 0 539,508
ORbsA 7 A=A Fal -3 AF 7]
539,508,000¢) = 539,508
W= 2 e 58,632 71,040 A12,408
gl 58,632 71,040 A12,408
201 L Hke-oJH] 58,632 71,040 A12,408
01 ApF3an] 13,600 71,040 NA57,440
ORI HI A 2= 2o -8 H]
150,000 * 129 = 1,800
O#7|tARe nE Y45
1,200,000¢) * 6¥ = 7,200
ORA7 A AN S = 4,600,000 * 13] = 4,600
02 TT9H 45,032 0 45,032
OA7)(AHAHE & 600,000¢) * 129 = 7,200
OAZN(ALHAHE = 5,000,000 * 6€ = 30,000
OA&3)d 285 100,000 * 12¢ = 1,200
oAz e T 100,0009 * 129 = 1,200




L K i R
BA A B () - AR - BEE ol Ao i3a NEES:
OFLEALE & 7209 = 50E * 129 = 432
Ozl Adn] 2 71eA A 211
5,000,000¢ = 5,000
FA AR By 199,252 712,090 A512,838
ol A 7M7) 166,400 199,800 A 33,400
T FA e 166,400 199,800 A33,400
201 YWk H] 6,600 16,600 A10,000
01 AHFE-#aH| 4,200 10,600 26,400
OFFshdsd A3 4,200
=37 FEERIS
30090 4,0007) = 1,200
- A ] 3,000,0009 = 3,000
02 F&gH| 2,400 6,000 A3,600
OFF3g4d &9 2,400
- ANeF 150,0009 * 129 = 1,800
—AFEEALER 50,0009 * 12¢¥ = 600
307 H7ko] A 150,000 150,000 0
05 wWIZHIEH 150,000 150,000
OFFshda W79 erateln
150,000,000¢ = 150,000
401 A ML o H] 9,800 30,200 20,400
04 A]AH] 9,800 30,200 220,400
OFFshdd NEs 700,000 * 14704 = 9,800
QFAEAAE e 32,852 512,290 A479,438
oA B Astx Fa4 e 32,852 512,290 A4T79,438
201 G Wk g H] 16,252 34,390 A18,138
01 AHF¥en) 5,700 3,250 2,450
OFHEAAE 9 stz Havte 5,700
- stz TAA I
85,0009 * 208} = 1,700
— O FA TS Tk 2,000,000¢) = 2,000
-5 A Y 100,000 * 204k = 2,000
02 FTTEAH 10,552 31,140 ~20,588
OAstx HAaue 10,552
-z HArTA SHLH
10,152,0009) = 10,152




i T3
Goliotnuy v (9):290)
BA A B () - AR - BEE ol Ao i3a NEES:
— R A |
1,0009) * 50 802 = 400
202 o] 2,800 4,200 A1,400
01 ol 2,800 4,200 A1,400
Qe fFFXloly| 2,800,000¢ = 2,800
207 A7) 1,800 1,700 100
02 A 1,800 1,700 100
OAstxzA e HAAZEZ 3 {FA4]
900,000 * 23] 1,800
402 W 7FA}E-0] 12,000 12,000 0
01 AR Z 12,000 12,000
OF =AY Aats
1,50090 = 80,000% = 10% = 12,000
t e 400,000 300,000 100,000
t e 400,000 300,000 100,000
3k A AL 400,000 300,000 100,000
207 A7) 400,000 300,000 100,000
01 A78&9H] 400,000 300,000 100,000
OA 84 A Z2AF €991 400,000,000 = 400,000
6,011,878 5,468,294 543,584
A& F (3 ) (= 3,638,000]
[ 2,373,878]
A= 329,278 50,000 279,278
T7IHEAIA A= 329,278 50,000 279,278
309 3719 HE=T 329,278 50,000 279,278
01 FT7I95HEIAAGAET 329,278 50,000 279,278
OAsts 5724 A4
600,000%) * 508 = 30,000
Oz ddzn 299,278,0009 = 299,278
5,682,600 5,418,294 264,306
HAAE [= 3,638,000]
[A] 2,044,600]
5,612,600 5,342,940 269,660
FatrA g AgA FEH(s ) [= 3,568,000]
[A] 2,044,600]
311 2FS§) 5ol A3 1,615,000 1,345,340 269,660




1=} /\ﬂ]_
T T
4 A5 (55 e
ot TAANAE (914
- AR . (3 A BEALS] - H A E } o Ad = H] o =7}
'1' Oﬁ’L"JI(ﬁﬁ])' ‘"T}H'\_o—l F = Cﬂ]ﬁ\lo—ﬂ ]JJ—B‘D
[= 769,680]
311 A g ol A&k
(A 845,320]
04 TFAFAA T IR 1,615,000 0 1,615,000
OR g8t e g d=] A A o] A3
1,615,000,0009 = 1,615,000
[= 769,680]
[A 845,320]
3,997,600 3,997,600 0
601 =L FAksk [= 2,798,320]
(A 1,199,280]
04 TAARAATATHS 3,997,600 0 3,997,600
ORGslA e g A Q43
3,997,600,0009 = 3,997,600
[= 2,798,320]
[A 1,199,280]
70,000 75,354 A5,354
St& el A AASIAIAE XA A3k a)
[= 70,000]
70,000 75,354 A5,354
311 =AY F ol & g3k
[= 70,000]
04 FUAAFAYF o)A TS 70,000 0 70,000
O3tFE e A A YD A A D 2] A kA o] A
3k 70,000,0009 = 70,000
[= 70,000]
+3A4v (sl 23,930 23,209 721
<91 23,930 23,209 721
ERS-E 23,930 23,209 721
101 €171 23,930 23,209 721
09 F7AFEEZAR S 23,930 23,209 721
OF=4d3d &9 Ay 23,930
-7 EF 36,6009 * 19 = 250 = 9,150
— A= 9,150,0009 * 4/12 = 3,050
- &7k 9,150,000 * 10% = 915
- fraFdsrd 36,6009 = 1 = 52F = 1,904
—AAFETD 36,6009 = 198 = 20 = 732
—FdEEFG
36,6009 * 5 % 129 * 1.5 = 3,294
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2,013

1,440

632

600

200

=

.A

—_—

o

=

T T
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= ERTICED

A

3,354¢ * B50AIZE x 12€9 =

120,000 = 19 = 12¢

A = 3%

21,058,000

] o« 129

[e}
2
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50,000

o x 23] =

100,000
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